
2- = f- ( ×
. ,y) ¥-4,%)

Equities of target plena

2- = f- (xoxo) + ¥4"%)(x-*o)+¥koio)(y-%)

f(x,y)=2*2+#

ᵗ"" "" " ")(xoxo) = ( 1,1 )

f- ( 1,1) =3 + ( × - 1) +2 (4-1)-(2--3)=0

¥i=4× ¥,=2y
¥4,1)=t ¥, CHI - 2



Linearization
f-G)

¥
.

(G) = f- (xo) + f-
'

(xo) (x- xo)

3 t 7- (x - E)

(G) ≈ f-G) for ✗ neenrxo but (G) is

easier to work with
,

3+71×-27=0



F- G) = ✗
2- 5

#¥
Flxo) (G)= Flxo) + F'Cxo) - (x - xD
F' ( xo)

= @E- 5) + (4) (x - a)
F' G) = 2X

f-
' (a) = 2×0 (G)= 0

✗- ✗• =
5- xp

Ixo

✗ = ✗◦ + ¥%



= ✗
◦
+ { ¥

.
-1¥

= {Xo + § to
✗
◦
=3 = { ( ✗◦ 1-E.)

×
,
= { ( ✗◦ +%) 05=2.23606797749979

xz= { (x + E.) 4=1-2 (3+-5)
4--2. 333-✗

z
= { ( ✗zt E) ✗e- { ( × , +E.)

* = 2.238095238 /

Xz = 2.23606889564

✗¢ = 223660679775



f- (tri)

Liheriraties at Cxo
,%)

L( ×,4) = f- (xoxo) 1- 2¥40 ,%) G-xD +2¥
,

Kayo) 4-yo)

↳ graph at L is exactly the tasert plane to

the graph of flay) at ↳%)

L(×,y) ≈ f- G.y) for ④ y) nun 60,401

but Lltry) is easier to work with
.

-



P = 8 ( units for P are kPa)
( 1 mole of

gas)

Linearization at -1=300 K
V = 301

p( 300,30) = 82 kPa

22¥ = 8¥ 221+(30%30)=8.3-20--0.273 kPa / K

2¥, =
- 8.2¥ 3%(300/30)=-8.2;}%- = -2.73 kPa/l

LCT
,
b) = 82+0,2734-300) - 2.73 ( U - 30)

PCT, V) ≈ L( T, V) for CTV) new 1300,30)



LIT
,
b) - 82 = 0,273 (-1-300)-273 ( U-30)

DP = 0.273 IT - 2.73 DV

F- 300k estimate chase in pressure

V= 301 if we increase temp by 5 K

and increase value by 2L

dP= 0,273 • 5- 2.73 • 2
+2

= - 9,45 kPa


